LEIRR
Company display

A&7  Enterprise profile

HHERERIREHRRARTWNSESER. ERSR. TIRKTIREEREESFEE. SIEHE
R EES R F RS A. ~RESBHIRARRESE—RHRRERGAE , ANFBHOSHEE
U=t TImAL. FRZLnsE , REMA , mEW— , FUERERT , WS TSMOGE0MEMLL. &
FRBAEMEA I~ REESNBRNER , TIBEPEXMREZIRA T RFHEMER RS
7.

LBFRFE "HiEEm , ERS" RS, FHRATILAT , FEEARREHE— I ER LR Skt
ARFHEAT . 2 BILARRIRSSSERIER | [BESHEHNEERR , FESIHEINCHLELMBRRS |
BIERIFIEISIE. EFPIR SHEAEE , ANEAENEFEERAETIHHER , REERT
EITgE , RiDFHEZFRBEDEW,

BAVSLMARMN Rl R BN E RIS RERS STUF R ZHSE LRLNE— 1 EIFIKRFE!



==

CATALOG
GRIISIHFERHELE.................. 01-05
G series side channel blower
RIS i 06
Model Description
SHERERE BN s i i i v i i 09-10
2HB2 Series
2HB3&RS ......covvvevan 11-12
2HB3 Series
SHBARE BN o iy cisi v vomn vt v 13-14
2HB4 Series
2HBSES ..., 15-16
2HBS Series
EHBBEE BN .. i s v v 17-18
2HB6 Series
2HB7&Y ..o 19-22
2HB7 Series
ZHRBI T . ovviisvinovivs v 23-26
2HBS8 Series
2HBO&RS ..., 27-30
2HB9 Series
AHBERSIBEE ..., 32-33
4HB Series single stage
AHBEFIMB ...covvevveeeeann 34-35
4HB Series double stage
CXERATRAM ....oooeeeeeeee 38-39
CX Centrifugal blowers
TBEBRXBAMN ...ooovveeneeean 40-41
TB Centrifugal blowers
HTBE B EMAL.....covveeeeee 42-43

HTB Centrifugal blowers




SHRIERE
Operating Principle

A% Impeller

® ©

;%1% Side Channel

t Xl OAir Outlet (4
i X\ OAir Outlet ®

SHAEMREREZREBIE L, RESNGEMTEY . BT R R4 s, B CLRIE TAR A & K &
Z N, WREM PRI S K TAE T SE . SRR A, (HESAMIEE2CL G, e e 37Eess i m b
25 SR — AN FE R bSO AR R A I B 3G 0 . B e AT, AR R, {E RIS uE
B SRE S — B0 . B MBETE LR AR A, AR e I 1 S A AR H R AR

The impellers are mounted directly on the motor shaft for noncontact compression entirely without friction.Maximum
operational reliability, even at high differential is ensured by the arrangement of the bearings outside the compression
chamber.The gas it taken in though the inlet1.As it enters the side channel 2,the rotating impeller 3 imparts velocity to

the gas in the direction of rotation.Centrifugal force in the impeller blades accelerates the gas outward and the pressure

increase .Every rotation adds kinetic energy.Resulting in the further increase of the pressure along the side

channel .The side channel narrow at the rotor,sweeping the gas off the impeller blades and discharging it though the
outlet silencer 4 where it exits the side channel blower.

SHR~EEFR

100% Joit, FoKIE4E, BT SR B2 RN O IPSSRIBT 158 2, PR 4%

XU (50/60HZ) J 3 ik Be it a2 J L 5t B a s X i i 55648, RlRAMVE BT, BEZR BRI LAE
A, $Ew 1T ] EEEAAE A

SIREAR AR A, O AL SRB A PR e K AT BASR i 2030096, 48 55 2k 18] (0 A R 10 3 7
B A G 1 2 o R

oty MR R A, "R, SR, RAEE. BARBDREEURMLIUIE, Rk
RS i, RRR AL 3L

PRI PR AR . H AR & T T PERENIR, SRAIPROE. UG, CADE oA Bh 5 TH 4 Rl Bl AU B
R, 22K 1002 M7 i 25 AT i 2 S5 48R LA S R 5K

BB R L E R A, RS RS AR AL AT BAETS RERY [R] N AL BE
ZUPEM A, X2 TRARES RS R RMET RO/, We B ', R
GLIaAT KKK

REFEAT AT A1) 2228, BOAAEATRR AR, IXTEWRA PR 1 23 1) R 22 R B o

B



SEXHRRZEG

T RIARG (R )
BR ML HS A @ S8

R
"Wﬁ V @
[ - [ &

DR 8 22 4R

%2

3

W5, BHBH

SR Kk, (2.000mmaq) Wi ’
it I 4 WL 1 4 8 PR RK KT, ER T R Wk, A AR RIAJE A BB | BB RUBL R K S N R 2 A A

AREH

AN

M ORI, B0 TR F % Uk . &g
i BN AR A | g T A S 10 B0 2

38 £ 75 K 4 H

b 2 ARG HE Y, DL Gt R e BEZEHLEE 58 Ja KTk 4 {5 B 2 R 3 F R

R 4 ORI i 3% EARBIIRE BEZHERR

TivRzFa Gl (RR)
BR WA R AN i R

N ‘\\‘ 5 i A B4R

i BB AR, WL R 05 W R AR Y
RIS E G, SRR | stipm e, REEERRE | RBAS REEA L, SRR 2 P4, 5 2 A B Tl

M R RCR YA, R WOROK f ik

w1 X HEHE

a &L,
ol A, T5RBA, WICRAE DI 2 A F L

A LA Ak i 4

) i Bl 5 M T WIS, RS,
AHR e % A Bl e 0 1 2 [ s H 2Rk % AT I 5 28 SCHE R

LA Z UE WS A W5l K ik, A A

o]



SHREMKEN
Vacuum pump chart (Single stage)

-

BB R BRI BRI =T =
No. No No. No. No.

Part name Part name Part name Part name Part name
001 | REFEHILIEL screw 010 | Mm% impeller 019 | #2%H flatkey 028 | MEHRL screw 037 | J&4# mounting plate
002 | RZFiliZ screw 011 | M#3#4F impeller shutter 020 | E#Hl motor 029 | X fan cover 038 | 3% lockwasher
003 | %% Pump cover 012 | Fiki8% Screw-pumpcasing | 021 | §2§4 flatkey 030 | HEE4KE paper pad 039 | JEARIRZ screw
004 | ElE R4 screw 013 | &k pump casing 022 | %7 bearing 031 | ;S M A mesh enclosure 040 | JEARF# washer
005 | ElEEEHEF washer 014 | B handring 023 | KA ware washer 032 | ;&EH4 sound proof sponge | 041 | JEARSE#H lockwasher
006 |BEEMEEIR pressure-plate | 015 | hE oilseal 024 | B#l/53 motor cover 033 | ;HE muffle tube 042 | JRARSEFT screw
007 | #7& bearing 016 | Bk & HIBL screw 025 | 53484 screw 034 | HEEH4EH screw
008 | %h7&FE fixing base 017 | #%%&% the motor boxcover | 026 | KRt fan 035 | JE#RZIHE support tube
009 | $h7&kEFZEHE o-ring 018 |#E&&ZKH rubber washer | 027 | 8 circlip 036 | JEARIRL screw




SR REREHE WK

Vacuum pump chart (Double stage)

036

"
RS
M N
N % s

013

2y

s ] wneo __lus | once o p— —

Part name Part name Part name Part name No. Part name
001 ’iiﬂP'ul?ﬂ screw 012 3R fkMedium pump body [ 023 ZR{FPump body 034 < #Clip spring 045 JRIRFFlat pad
002 RENL screw 013 SHE B B Paper pad 024 BIFRIngs 035 RKZWind shield 046 JRAR#E - Spring pad
003 3% Pump cover 014 4 Transfer i nterface 025 shEfoil seal 036 R BiZ%Hood screw 047 JRIRIZ 2 Screw
004 BElEREIRL screw 015 SHE B4 HPaper pad 026 2 4l Motor 037 SR 4 Screw 048 JEAR 3 HF Supporting rod
005 EEERS washer 016 S 2/ FMesh 027 I3t sEKey pin 038 | ##EZ &= Connection box covg 049 J&E#The base plate
006 | ElEFEEHR pressure-plate 017 ZHEEL48Sponge 028 JERAH2E5Key pin 039 & EFE Rubber pad 050 [El = Enclosure
007 7k bearing 018 SE I EiSilencer 029 JEth&Bearing 040 # [ 2Sealing cover 051 B Rubber pad
008 37KEE xing base 019 SHTE RS £44FScrew rod 030 Bz Frbearing shim | 041 FHOZIZLL screw 052 W FrMesh
009 bR R R E B o-ring 020 M4 Impeller 031 f&#5Back cover 042 JEMIRL screw 053 #2475% 2% Threaded ange
010 M4 Impeller 021 RIKIZ22Screw 032 R84 Screw 043 JRIRSRE R H Shim 054 4224 Screw

011 fRE&ESpacer sleeve 022 4544 Bafe 033 KHWind blade 044 JRARIRZ Screw




IR R RG FE

Provide solutions for all kinds of fans

iR, Bhz=. BAiE. Z=|EH.

Explosion-proof, dust-proof, anticorrosion and sealing

i /=5 im A% Bo i

High Temperature Resistant Fans and Accessories

| AE::

Industry application

=Pl [ | I B food industry B chemical industry

B FRETI B IR [l environmental protection [l Mechanical equipment
HEET | 25 [l automotive industry B Pharmacy

W eEET B Err B Electroplating industry B Medical care

W krEzsE5E H =5 B Aquaculture industry B Electronics

W TS [ | bodll] [l Industrial dust collection [l Adgriculture

B ST [ | BRI 4547 B Packaging machinery B Spin

B ENRIAL 4T B pmssig B Printing machinery industry [l Ships and railways

B ZEERIT W B hEmXTLTE [l Plastics industry [l Aerospace Engineering



B = i BB

Demonstration of the type

B:fji%  explosion-proof
2HB 2 _JL!; HO 6|><|
-l- AHB/HH6: =#Hthree-phase A220-240V/Y345-415V RiA24ii  frequency conversion
AH7/HH7: =#8three-phase A345-415V/Y600-720V Z i Middle position

AA1/HA1: E#Hsingle-phase 220-240V W:4bE  External location

B HlF%S The motor sequence number M:#3f  Seal up

DC:Hiii Direct current

0 : {EEZ%E Any installation mode
3 : EHL Vertical installation F:[i )8t Corrosion resistance

1 : BEBM%S Single impeller 2 : YXH#S Double impeller
3 : BEE i Single impeller Large fiflow 4 : WERAE Double impeller Large fiflow

RZRFZ=ARELE Pump head model

2HB : B EXIH1 High Pressure fan 4HB : 455 E/X#1 Special High pressure fan

ERITRHBIERAR

® it E 3 conversion table

X & Air volume

J£ /1 Pressure
I G A £ AP H br 41

L CL DA HSLH T H bR A

The initial unit conversion constant Target unit The initial unit Conversion constant Target unit
/min 0.06 m3 /h Pa 0.01 mbar
P 0227 3 hpa 1.0 mbar
9 m_/h kpa 10.0 mbar
ft3 /min(cfm) 1.699 m> /h mmH20(mmAq) 0.098 mbar
m3 /h 16.667 I/min mH20 98.07 mbar
- at 980.7 mbar
3 #h 4.403 gal/min inchH20 2.491 mbar
m3 /h 0.588 > /min(cfm) PSTIpdf/in2 68.948 mbar

® ##Xt[E S Absolute pressure

@EHDRUBEEST ( BEAT) HEEMSIONEE. AL ERLSEMEX / Absolute pressure in vacuum (absolute pressure is

zero) as the reference and the measured values obtained. So the pressure is greater than the reference value

® 3k £ Gauge pressure

KERESTHEASENNNEME. BLARERSHERE, ESiRlSE22EEE X/ Gauge pressure is that measurement is higher than the

standard atmospheric pressure value. The standard atmosphere for reference, so the actual measured value is larger than the reference value

® HZE vacuum degree

EFERERTHEXRSEANNEE. WEEENMARERSE, MLUEPRUEME /) /The vacuum is that measurement is lower than

standard atmospheric pressure value.Measurement benchmark is still the standard atmospheric pressure, so the actualmeasured value

m,



2HB-1AC-220V &1 KA EEES

2HB-1AC-220V Performance parameters of blower

§48 220V

S ¥ parameters

B LiAERES B Motor rated parameters $ SO B #E
me 52 3 |
i MR sk e HE Bk HER R HSES E4RED
Model single frequency voltage current Max airflow rated Vacuum  rated compress noises Weight
double HZ Vv A m3/h mbar mbar dB(A)
50 0.4 220 2.7 80 - 110 110 53
+ 2HB210-AA11 -} 1
60 0.5 220 3.0 96 - 130 140 56
50 0. 55 220 3.7 100 - 120 120 55
+ 2HB310-AA01 L 13
60 0. 62 220 4.5 120 - 130 150 57
50 0.7 220 4.5 100 - 150 150 55
« 2HB310-AA11 L] 14
60 0. 83 220 5.6 120 - 150 160 57
50 0.7 220 4.5 145 =120 120 63
« 2HB410-AA01 8 15
60 0.83 220 5.6 175 - 130 130 64
50 0. 85 220 5.5 145 - 150 160 63
+ 2HB410-AA11 B 16
60 0.95 220 6.1 175 - 160 140 64
50 1.3 220 7.8 145 - 150 190 64
* 2HB410-AA21 2 17
60 1.5 220 8.8 175 - 180 190 65
50 1.3 220 7.8 210 - 160 160 64
« 2HB510-AA11 & 21
60 1.5 220 8.8 255 - 150 160 70
50 1.5 220 10. 4 210 - 190 200 64
+ 2HB510-AA21 &8 24
60 8¢5 220 11.2 255 - 180 180 70
50 2.2 220 12.8 210 - 220 210 64
« 2HB510-AA31 B 26
60 2.55 220 12.8 255 - 210 200 70
50 2.2 220 12. 8 270 - 230 250 64
+ 2HB610-AA11 5 28
60 2. 55 220 12. 8 315 - 250 270 70
50 2.2 220 12.8 270 - 190 190 72
« 2HB710-AA11 L] 30
60 2.55 220 12.8 315 - 190 200 74
50 0.7 220 45 88 - 210 240 55
« 2HB220-HA21 » 16
60 0.83 220 5.6 103 - 250 250 61
50 0.4 220 2.7 100 — 110 110 54
* 2HB230-AA11 8 11
60 0.5 220 3.0 120 - 130 140 S
50 1.3 220 76 120 - 240 280 58
+ 2HB320-HA31 Py 17
60 15 220 8.8 145 - 230 260 60
50 0.7 220 45 145 - 100 100 56
+ 2HB330-AA11 8 14
60 0. 83 220 58 165 - 120 100 58
50 15 220 104 150 - 280 290 66
+ 2HB420-HA31 N 26
60 1.75 220 11.2 180 - 250 280 69
50 0.85 220 55 180 - 100 110 63
+ 2HB430-AA11 -} 17
60 0.95 220 6.1 210 - 100 110 64
50 13 220 7.8 180 - 150 130 64
+ 2HB430-AA21 5 18
60 1.5 220 8.8 210 - 140 130 66
50 22 220 12.8 230 - 280 350 72
+ 2HB520-HA31 pYe 35
60 2.55 220 12.8 275 - 330 320 74
50 1.5 220 10.4 270 - 150 140 65
+ 2HB530-AA21 8 26
60 1.75 220 11.2 330 - 140 110 71

FAESERZRRTIN=HRZERTHR - EF=HRER~THT

Installation dimensions of the same type 1AC and 3AC are the same. Just check the installation dimensions of 3AC



gAML 220V 1AC curve

50Hz
350 350
5| 300 w1 jH57lo 300 %
S| 250 e <My 250 | 3
3| 200 = upsi0— 2HBsyg 200 | %
= i 22 o
B 10 = | nesl0 2HBazg 22 150 | %
100 22 15 13 ope3ll 2HB319 o7 13 . i 100
50 ) - we2l0 2B 0.55 B 19 12 50
0 22 0.7 | 0.4 20.7 13 0
300 250 200 150 100 50 0 50 100 150 200 250 300
Vacuum(E 23) Total pressure differencef/EZE A P Pressure( /£ 73)
60Hz
400 - 400
Q L/ —
| 350 WP 350 |2
2 : /i\;\g,ex 8610 £
2 300 T 300 | 3
2| 250 2HB510 2HBs14 250 | %
3 T L]
2
o 200 L 2HBM/Q,,, 2/.,5,410 255 00 £
150 : L8 LTS 150
HB310 - 2HB37) 127 Sl
100 — 0.83 .0.95 100
50 2% THES || e PR 50
0 0
300 250 200 150 100 50 0 50 100 150 200 250 300
Vacuum(E &) Total pressure difference@/EE A P Pressure( £ 17)

iR 220V 1AC curve

50Hz
300 n 300,
2| 250 e sy, 250 &
L] — ~ 2HB520 2MBS5y, 200 E
H 430 24, H
3| 150 L 24 ; 150 '
s N}?‘EQ 2HB330 B420 15 7H :
¥ 100 i ;’ga%%iﬁ 2HBZZ'.2'3320 . - S| | 22 0%
50 15 13 6230 0.4 ©0.7 13 20
0 0
350 300 250 0 50 100 150 200 250 300 350
Vacuum(E &) Total pressure difference / QEZE AP Pressure( £ /1)
60Hz
_, 350 % 350
£ (Ve =
7300 z\f\““zi“ HE0 300 | §
3| 250 : A = 250 | %
& | 200 | ZHBAZ',D 2HB430 s 200 ,c:,
175 2 ~_2HB "
£ 150 833 = 10 |4
3320 2HB329 L 328 255
100258 5 s HB220 2HB220 7 0.83 B 100
50 083 230 0.5 ‘083 50
0 0
350 300 250 200 150 100 50 0 50 100 150 200 250 300 350
Vacuum(E &) Total pressure difference / BFEZEA P Pressure( £ 13)

o]



2HB2 3AC-380V XAL1EEES %/ £k

2HB2 3AC-380V Performance parameters/curves of blower

&%y parameters

B LAFESH Motor rated parameters b-oN HE FE
B BE £
Wk iR nE HE ::pd HRR 2 HZEED EHRER
(2HB2-3AC)
Model single |frequency| power voltage current Max airflow rated Vacuum |rated compress| noises Weight
double HZ KW % A m3/h mbar mbar dB(A) Ke
50 0.4 200-240A 345-415Y 26A/1.5Y 80 -120 130 53
- 2HB210-AH16 ;] 10
60 0.5 220-275A 380-480Y 26A/1.5Y 98 -150 160 53
50 037 200-240A 345-415Y 3.8A/2.2Y 85 -210 240 55
- 2HB220-HH26 byd 15
60 0. 83 220-275A 380-480Y 3TN/ 2.15Y. 102 -250 250 61
50 04 200-240A 345-415Y 26A/1.5Y 105 -120 130 54
- 2HB230-AH16 ::] 1
60 0.5 220-275/ 380-480Y 26A/1.5Y 120 -150 160 57
50 0.7 200-240A 345-415Y 3.8A/2.2Y 105 -120 130 54
- 2HB230-AH26 =< 12
60 0.83 220-275A 380-480Y 3.8A/2.2Y 120 170! 180 57
B £% curves
50Hz
120 - . . . . 120
| 100 $ 100 | €
2 . AN W | B
< 2 <
: 60 /@IE\ - 60 £
é \\‘l\;\\\_ \2”82217.\ | §
| 40 SIS I = N 40 o
P N = ®
= 0.4=[0.7 —L
20 — - > — 20
07 04=07 0.4 TOJ
0 — ] ! | - ! 1 0
300 240 180 120 60 0 60 120 180 240 300
.
Vacuum(H =) Total pressure difference / SEEAP Pressure (£ 77)
150 150
=| 120 120 | €
:g 13
3| 9 90 3
é 60 T 60 é
n.% T~ 083 ;
55 0.5 | B2 30 :
083 T
0 1 0
300 240 240 300

o
Vacuum(E =) Total pressure difference / SEZ AP

Pressure (£ 1)

a




2HB210/230 B RE R~

Single stage mounting dimensions

2HB230-AH16 [k

2HB210-AH16
2HB230-AH26 [l

2HB210-AA11 1~

2HB230-AA11 1%

[
= ;s
> 2 >
L]
4 o
N2 / R /
o
5
N Ol al
B8 wose) || A 18] 0] 0 | elrlol w | |y lKkl L [ w [n|oleplalrls|T]ulv]w] x|
3~ | 245 | 247 [ 140 | M6X15 | 258 [ 72 [ 135 | M16X1.5 [ M32X1.5| 111 | 128 | M6X17 | G11/4 64| 25|39 88 | 230 |205| 73 |83 |231 |10 108
245 | 247 | 140 | M6X15 | 267 | 81 | 135 | M16X1.5 [ M32X1.5| 111 | 128 | M6X17 | G11/4 |64 | 2.5 (39| 88 [ 230|205 | 81 |83 | 240 | 10| 108
245 | 247 | 140 | M6X15 | 267 | 81 | 135 | M16X1.5 | M32X1.5( 111 | 128 | M6X17 | G11/4 |64 | 2.5 | 39| 88 | 230 | 205 | 81 (83| 240 | 10| 108
245 | 247 | 140 | M6X15 | 258 | 72| 135 | M16X1.5 [ M32X1.5| 111 | 128 | M6X17 | G11/4 |64 | 2.5 (39| 88 [ 230|205 | 73 |83 | 231 10| 108
245 | 247 | 140 | M6X15 | 267 | 81 | 135 | M16X1.5 | M32X1.5( 111 | 128 | M6X17 | G11/4 |64 | 2.5 | 39| 88 | 230 | 205 | 81 (83| 240 | 10| 108
=
HB poa o AR
Double stage mounting dimensions
=)

5 woaen |igia| A ] 6] C] 0 JElrlol H | 1 | u]k] L | |
3

2HB220-HH26 -

284

270

140

M6X15

318 |132

135 |[M16X1.5

M32X1.5

111

128

M6X17

M_[N] O P
G1. |64 25|39

459

106

230

205

311

133

1o RIS ] Tulv W]
83

108

10

2HB220-HA21 [

284

270

140

M6X15

318 (132

135 |[M16X1.5

M32X1.5

11

128

M6X17

Glus |64

2.5

39

459

106

230

205

31

133

83

108

10

m,



2HB3 3AC-380V RHtEESEL

2HB3 3AC-380V Performance parameters of blower

2% parameters

BR DA% ES ¥ Motorrated parameters &KX e e EE o
e MR EES h#E BE B HER i & HZEND EHEN
(2HB3-3AC)
Model single [frequency| power voltage current Max airflow | rated Vacuum |rated compress noises Weight
double HZ KW " A m3/h mbar mbar dB(A) Kg
50 0.55 200-240A 345-415Y 2.8A/1.6Y 100 -120 130 55
» 2HB310-AH06 8 11
60 0.63 220-275A 380-480Y 3.0A/1.7Y 120 -120 140 57
50 0.7 200-240A 345-415Y 3.8A/2.2Y 100 -150 150 55
+ 2HB310-AH16 -] 12
60 0.83 220-275A 380-480Y 3.8A/2.2Y 120 -150 160 57
50 0.55 200-240A 345-415Y 2.8A/1.6Y 140 -60 60 56
+ 2HB330-AH06 B 12
60 0.63 220-275/A 380-480Y 3.0A/1.7Y 165 -50 50 58
50 0.7 200-240A 345-415Y 3.8A/2.2Y 140 -100 100 56
+ 2HB330-AH16 B 13
60 0.83 220-275A 380-480Y 3.8A2.2Y 165 =110 100 58
50 0.85 200-240A 345-415Y 4.2/\/2.4Y 110 -200 230 58
* 2HB320-HH26 PUs 17
60 0.95 220-275/A 380-480Y 4.0A/2.3Y 130 -240 240 60
50 1.3 200-240A 345-415Y 5.7T//3.3Y 110 -280 310 58
* 2HB320-HH36 e 18
60 1.5 220-275A 380-480Y 6.0A/3.5Y 130 -300 320 60

BR%% curves

o0HZz
4150 13 1500 =
< 22 1 =
g | 120 y = 120 | £
= =]
S 0557 L5 N =
% | 90 B0 gase | w0 | 3
3 520 20 EN 2Hp5 i
& oD b8, 007 2o e
21 60 085 0.7 o T, 60 | 7
L= << 0.85 1.3
30 . - 2 30
i3 / 0‘7/ 0,550 o7
0 0
300 240 180 120 60 0 60 120 180 240 300
Vacuum (HZ) Totalpressuredifference/ &k Z AP Pressure (JE/1)
= 180 180 =
€| 150 150| %
= =
%G | 120 120| %
< <
& 8HB3 &
ﬂl’z 90 0 L 0,95 90 ﬂlg
T 15
60 e & Q 60
| T709% . 063 ('0‘83
30 5 * 30
0 0
300 200 100 0 100 200 300 400
Vacuum (E%) Totalpressuredifference/ s k% AP Pressure (JE77)

m



2HB310/330 B ZRK R~

Single stage mounting dimensions

R
S
» —
- s
° 5¢ D >
9 o
1 h4 nﬂ ” e@ » M
M
N Ol ol

N
267 | 271 | 160 | Mex15 | 261 135 | M16x1.5 | M32x1.5| 111 | 140 | M6x17 | G11/4 |64 | 2.5 | 40| 93 | 230 | 205 108
3~ | 267 [ 271 | 160 [ Mex15 | 261 [ 75 | 135 [ M16x1.5 | M32x1.5 | 111 | 140 [ Mex17 | G11/4 [64 | 2.5 [ 40| 93 [ 230 [ 205 [ 69 [ 83 [ 254 [ 10| 108
3~ | 267 [ 271 | 160 [ Mex15 | 276 | 90 | 135 [ M16x1.5 | M32x1.5 | 111 | 140 | Mex17 | G11/4 |64 | 2.5 40| 93 [ 230 | 205 | 84 |83 | 269 [ 10 108
3~ | 267 [ 271 | 160 [ Mex15 [ 276 | 90 | 135 [M16x1.5 [M32x1.5] 111 | 140 [ Mex17 | G11/4 |64 | 2.5 [40] 93 [ 230 | 205 [ 84 |83 269 [ 10 108
1~ | 267 [ 271 | 160 | M6x15 | 261 | 75 | 135 | M16x1.5 | M32x1.5| 111 | 140 | M6x17 | G11/4 64| 2.5 | 40| 93 [ 230|205 | 69 |83 | 254 | 10| 108
PITYIOVAEE - | 267 | 271 | 160 | M6x15 | 261 | 75 | 135 [M16x1.5 [ M32x1.5[ 111 [ 140 [ Mex17 | G11/4 64| 2.5 [40] 93 [ 230 | 205 | 69 |83 254 [ 10| 108
1~ | 267 | 271 | 160 | Mex15 | 276 [ 90 | 135 [ M16x1.5 | M32x1.5| 111 | 140 | Mex17 | G11/4 |64 | 2.5 [40| 93 [ 230 [ 205 | 84 |83 ] 269 [ 10] 108

| @S woser ialalelcl 0 Jelrlel K| |y lkl L | M JNjolrplalR]s T ulyIwlx]
5 3~ 75 69 83| 254 | 10

2HB320 WK R E R~

Double stage mounting dimensions

P T A A N A I A3 B A ) R S Y A Y KA A A
3~ | 296 | 289 | 160 | Mex15 | 354 [144| 150 | M16x1.5 | M32x1.5| 120 | 140 [ Mex17 | G1.. |64 | 2.5 |40 |a72|112|230|205(323|138] 83 [108] 10
3~ | 296 | 289 | 160 | M6x15 | 354 [144] 150 [ M16x1.5|M32x1.5] 120 | 140 | Mex17 | G1w |64 | 2.5 |40 [472[112]230|205[323]138] 83 [ 108| 10
1~ | 296 | 289 | 160 | Mex15 | 354 [144] 159 | M16x1.5 | M32x1.5| 120 | 140 | M6x17 | G1w |64 | 2.5 | 40 [472]112]230]205[323[138] 83 [108] 10




2HB4 3AC-380V Rl i1tEEES%

2HB4 3AC-380V Performance parameters of blower

&% parameters

e Y DiAEESH Motor rated parameters L EN B BE wE 8
L ICHIETHEL B iR HBREE | A=EH | EHED =
Mode | single [frequency| power voltage current Max airflow | rated Vacuum |rated compress noises Weight
double Hz KW A\ A m3/h mbar mbar dB(A) Kg
50 0.7 200-240A 345-415Y 3.8A/2.2Y 145 -120 120 63
+ 2HB410-AHO06 B - 15
60 0.83 220-275A 380-480Y 3.75A/2. 15Y 175 -130 130 64
HBA10ANTS M 50 0.85 200-240A 345-415Y 4.0A/2.3Y 145 -160 160 63 e
5 60 0.95 220-275A 380-480Y 3.85A/2. 25Y 175 -160 160 64
50 1.3 200-240A 345-415Y 5.7A/3.3Y 145 -170 200 63
+ 2HB410-AH26 B 18
60 1.5 220-275A 380-480Y 6.0A/3.5Y 175 -210 220 64
PRS0 AN05 & 50 0.7 200-240A 345-415Y 3.8A/2.2Y 180 =00 70 64 N
3 60 0.83 220-275A 380-480Y 3.8A/2.2Y 210 =00 50 65
50 0.85 200-240A 345-415Y 4.2N/2.4Y 180 -120 120 64
+ 2HB430-AH16 L] 17
60 0.95 220-275A 380-480Y 4.0A/2.3Y 210 -90 70 65
S » 50 -3 200-240A 345-415Y 6.6A/3.8Y 180 -180 220 64 o
fi 60 15 220-275A 380-480Y 6.9A/4.0Y 210 -200 170 65
50 1.6 200-240A 345-415Y 7.5A/4.3Y 150 -280 280 66
+ 2HB420-HH36 25
R 60 2.05 220-275/ 380-480Y 7.6A/4.4Y 180 -320 310 69
50 2.2 200-240A 345-415Y 9.7A/5. 6Y 150 =330 440 66 27
el 60 | 2.55 | 2202754 | 380-480Y | 10A/5.8Y 180 ~350 420 69
4% curves
1200 2004 =
\!_" (5}
s 8
€160 160 | %
Z | 120 120 | 3
E| 80 =] 80 | =
40 P2 40
-
0 0
400 300 200 100 0 100 200 300 400 500
Vacuum (H%%) Totalpressuredifference/ M [k AP Pressure (JE77)
60Hz
=1 250 &%ZG 250 | 2
< £
£1 200 R 1 200 | %
o . s L
5 T &
b 150 0990 \Q I/ § B s | EH 150 2]
3 420 || Pl T ed | [ 4, E
2| 100 ed g ol (1D e ass 100 | 2
B 2.05 L5 0.83 0.83 | T35 -
50 8505/( ﬁ/jg:ﬁ 0.95 1~ <5 S50
. 50
0 0
500 400 300 200 100 0 100 200 300 400 500
Vacuum (EL7) Totalpressuredifference/ 5% AP Pressure (JE /1)

I8




2HB410/430 BF KRR~

Single stage mounting dimensions

'_
— o = >
w
e S ol &
L
—A
M| | 11>
' N
B8 Mode! M) AJBI]C] D JEJFIGI H [ 1 JJ 1Kl L ] M [NJOIPIQIR]|S]T]U]V]W]
PINIYRLWASIE 3~ | 286 | 302 | 174 | M6X15 | 269 | 81 | 135 [ M16X1.5 | M32X1.5| 111 | 154 [ M6X17 | G1.. | 72 | 3 | 46 | 136 | 255 [ 225 | 75 | 95 | 261 | 12
PP NOWERIM 3~ | 286 | 302 [ 174 | M6X15 | 294 | 81 | 159 | M16X1.5 | M32X1.5| 120 | 154 | M6X17 | G1iz 72 | 3 | 46 | 136 | 255 (225 | 75 | 95 | 261 | 12
2HB410-AH26 3~ | 286 [ 302 | 174 | M6X15| 294 | 81 | 159 | M16X1.5 | M32X1.5| 120 | 154 | M6X17 G1liz 72 3 46 | 136 | 255 | 225 | 75 95 | 261 | 12
PITPRLUNTN 3~ | 286 | 302 | 174 | Mex15 | 284 [ 96 | 135 [M16X1.5 [ M32x1.5| 111 | 154 [ Mex17 | Gt | 72 | 3 | 46 | 136 | 255 | 225 | 91 | 95 | 276 | 12
2HB430-AH16 3~ | 286 [ 302 | 174 | M6X15 | 309 | 96 | 159 | M16X1.5 | M32X1.5| 120 | 154 | M6X17 G1liz 72 3 46 | 136 | 255 | 225 | 91 95 | 276 | 12
PITIRNNTPl 3~ | 286 [ 302 | 174 | Mex15 | 309 [ 96 | 159 [M16X1.5 [ M32x1.5| 120 | 154 [ Mex17 | Gt | 72 | 3 | 46 | 136 | 255 | 225 | 91 | 95 | 276 | 12
2HB410-AA01 1~ | 286 | 302 [ 174 | M6X15 [ 269 | 81 | 135 | M16X1.5 [ M32X1.5| 111 | 154 | M6X17 G1liz 72 3 46 | 136 | 255 | 225 | 75 95 | 261 | 12
2HB410-AA11 1~ | 286 | 302 [ 174 | M6X15 | 294 | 81 | 159 | M16X1.5 | M32X1.5| 120 | 154 [ M6X17 | G11/2 | 72 | 3 | 46 [ 136 | 255|225 | 75 | 95 | 261 | 12
2HB410-AA21 1~ 1286|302 [ 174 | M6X15 | 294 | 81 | 159 | M16X1.5 | M32X1.5| 120 | 154 | M6X17 | G11/2 | 72 3 46 | 136 | 255 | 225 | 75 95 | 261 | 12
2HB430-AA11 1~ [ 286 | 302 | 174 | M6X15 | 309 | 96 | 159 [ M16X1.5 | M32X1.5| 120 | 154 | M6X17 | G11/2 | 72 | 3 | 46 | 136 | 255 | 225 | 91 95 | 276 | 12
2HB430-AA21 1~ | 286|302 174 | M6X15 | 309 | 96 | 159 | M16X1.5 | M32X1.5| 120 | 154 | M6X17 | G11/2 | 72 3 46 | 136 | 255 | 225 | 91 95 | 276 | 12
i r
2HB420 W& & % R~
Double stage mounting dimensions
E
F G . Q
- ]
N H~ ¢ T >|
- o
2 ol ! x| =
i 3 1 L
1 % i
D L = 1
.
o 58
N s

2HB420-HH36

(afelcl 0 JELFIG] H | | JJ]K] L [ M|

M_|N]olPla
G1w | 72| 3 |46 |482

[RIs |7 ulv wlx]v]
95 12

A S Model

2HB420-HH46

2HB420-HA31

2HB420-HA41

3~ | 317|315 | 174 | M6X15 | 401 [ 158 | 191 | M16X1.5 | M32X1.5 | 128 | 154 | M6X17 153 | 255 [ 225|337 150 136

3~ [317| 315|174 | M6X15 [ 401 | 158 | 191 | M16X1.5 | M32X1.5 | 128 | 154 | M6X17 | G1.. |72 | 3 |46 | 482|153 | 255|225 (337( 150 | 95 |136|12
1~ | 317 | 315 [ 174 | M6X15 | 401 | 158 | 191 | M16X1.5 | M32X1.5 | 128 | 154 | M6X17 | G1w |72 | 3 |46 | 482|153 | 255 | 225 |337| 150 | 95 [136]|12
1~ | 317 | 315 | 174 | M6X15 | 401 | 158 [ 191 [ M16X1.5 | M32X1.5 | 128 | 154 | M6X17 | G1:= |72 | 3 | 46 [ 482153 | 255 | 225 |337( 150 | 95 |136( 12




2HB5 3AC-380V Ml IEEESE

2HB5 3AC-380V Performance parameters of blower

2% parameters

50 0.85 200-240A 345-415Y 4.27/2.3Y 210 -110 100 64
+ 2HB510-AH06 B

60 0.95 220-275A 380-480Y 4.0A/2.3Y 255 -80 70 70

50 1.6 200-240A 345-415Y 7.5//4.3Y 210 -200 190 64

+ 2HB510-AH26 L]
60 2.05 220-275A 380-480Y 7.6/A/4.4Y 255 -220 210 70

50 0.85 200-240A 345-415Y 4.0A/2.3Y 270 -40 40 65
« 2HB530-AH06 B

60 0.95 220-275A 380-480Y 4.2//2.4Y 330 -40 40 70

50 1.6 200-240A 345-415Y 7.5A/4.3Y 270 -160 150 65
+ 2HB530-AH26 L]

60 2.05 220-275A 380-480Y 7.6//4.4Y 330 -160 150 70

50 2.2 200-240A 345-415Y 9.7A/5.6Y 230 -290 360 72

© 2HBS20-HH36 | A 60 255 | 220275 | 380-480Y | 10.3A/6.0Y 275 350 330 74

50 4 345-415A 600-720Y 10A/5.8Y 230 -390 490 72
~ 2HEDRIFHHDY | B 60 46 | 380-480A | 660-720Y | 9.9A/5.71Y 275 ~410 480 74 41
B%% curves
50Hz
. 35 w [ 2
3 5 2% 2
2 250 3 20 |
£ opsh T 08 3
= -
2 00 > S PRy T T w |
H
8 1 \«\Bﬁc/f_/ // ™~ \01\ \1 @\ 150 ;m|
L1 K
’g /// 16/ ﬂsﬁ 0.85 \& \\\\ 2 "
T2k 6 3 o] o0
L 873 3T ~
% 5 2 /(/ ¢ oo | o ”
22 7
A 2
0 2 []
500 400 300 200 100 0 100 200 300 400 500
Vacuum (EZS) Total pressure difference / BEZEAP Pressure (J£/1)
60Hz
_ 350 350 €
< L@é"@ QL% 2
2 300 "/‘r/ ‘OQ 300 N
3 250 1ls /‘T/ \TI\\(;\S 250 =
« i o T~
; » | L] o8 \E; s RHEsa, . 8
o - [~ —
; - /@/ 304 A pe ol T 25 | s . %
ES 5511 11 1 N~ol TO2ss T 46
345 Lo 1 ’ I~ ==
100 I3 ] /‘/ 2.03 = 100
255 205 o
% 46 57 | 2.5 -
‘.55T [
0 0
500 400 300 200 100 0 100 200 300 400 500
Vacuum (EZ) Total pressure difference / BEEAP Pressure (JE77)

B




2HB510/530 B4 L& R ~F

Single stage mounting dimensions

9% ooe! |6 A ] & |G| 0 | Elrlol w | 1 ] ulwkl c | wlnlolelalr]|s|T]ulvlw
2HB510-AH06 3~ | 334 | 374 | 200 [ M8X20 | 313 | 98 | 159 | M16X1.5| M25X1.5| 120 | 175 | M8X17 G2 83 4 48 | 155|295 (260 | 82 | 115 | 293 | 14
PSR CRGE 3~ | 334 | 374 | 200 | M8X20 | 313 | 98 | 159 [ M16X1.5| M25X1.5| 120 | 175 | M8X17 G2 83 | 4 | 48 | 155 (295|260 | 82 | 115|293 | 14
2HB510-AH26 3~ | 334 | 374 | 200 | M8X20 | 345 | 98 | 191 [ M16X1.5| M25X1.5| 128 | 175 | M8X17 G2 83 4 48 | 155 295|260 | 82 | 115 | 293 | 14
DI erl o~ | 334|374 | 200 [ Max20] 345 | 98 [ 191 [m16x1.5[mM2sx1.5] 128 [ 175 [mex17 [ e2 [ 83 | 4 | 48 [ 155295260 | 82 [ 115 [ 293 | 14
PLERY O 3~ | 334 | 374 | 200 | M8X20 | 334 | 118 | 159 | M16X1.5 [ M25X1.5| 120 | 175 | M8X17 G2 83 | 4 48 | 155|295 | 260 | 101 | 115 | 314 | 14
PLIELRZEGE 3~ | 334 | 374 | 200 | M8X20 | 334 | 118 | 159 | M16X1.5 [ M25X1.5 120 | 175 | M8X17 G2 83 | 4 | 48 | 155 (295|260 | 101 | 115 [ 314 | 14
PR NPT 3~ | 334 | 374 | 200 | M8X20 | 365 | 118 | 191 [ M16X1.5 [ M25X1.5 | 128 | 175 | M8X17 G2 83 4 48 | 155 295|260 | 101 | 115 [ 314 | 14
DI TRLN Vel o~ | 334 | 374 | 200 [ Max20 | 365 | 118 | 191 [M16x1.5| M2s5x1.5] 128 [ 175 [ mex17 | 2 [ 83 | 4 [ 48 | 155 | 295 ] 260 [ 101 115 [ 314 | 14
2HB510-AA11 1~ 334 | 374 | 200 | M8X20 | 313 | 98 | 159 | M16X1.5| M25X1.5| 120 | 175 | M8X17 G2 83 4 48 | 155 (295|260 | 82 | 115|293 | 14
PSSOV VIl '~ | 334 | 374 | 200 [ Max20 | 345 | 98 [ 191 [M16x1.5|M25x1.5| 128 [ 175 [Mex17 | G2 [ 83 [ 4 | 48 | 155|295 [ 260 | 82 | 115 [ 203 | 14
2HB510-AA31 1~ | 334 | 374 | 200 | M8X20 | 345 | 98 | 191 | M16X1.5| M25X1.5 | 128 [ 175 | M8X17 G2 83 4 48 | 155 295|260 | 82 | 115 293 | 14
PIRLIVOl - | 334 | 374 [ 200 [ M8x20 | 365 | 98 | 191 [M16x1.5|M25x1.5[ 128 [ 175 [max17 | e2 | 83 [ 4 | 48 [ 155] 295 [ 260 [ 101 | 115 | 314 | 14

B520 WK %R

Double stage mounting dimensions
A ; G , Q
G
N HJ=rt
c N o
Q [ee] |
I : L
| - o
D . i
Oly 1 60

2HB520-HH36

2HB520-HH46
2HB520-HH57

B8 Mosel il AlBlc] D JEJFIG] H | 1 JJlK] L | M NJoJPlalRIS T ulv wlx]Y]
3~ [ 370 | 374 | 200 | M8X15 | 430 (183| 191 [M16X1.5[M25X1.5| 128 | 175 | M8X17 G2 83| 4 |48|594 | 144 | 295|260 379 171 [115[155| 14
3~ | 370 [ 374 | 200 [ M8X15 | 462 |183| 188 [ M32X1.5|M32X1.5( 135 | 175 | M8X17 G2 83| 4 (48594 | 144 | 295 | 260 |379| 171 |115]|155| 14
3~ | 370 | 374 | 200 [ M8X15 | 499 |183| 225 [ M32X1.5|M32X1.5( 135 | 175 | M8X17 G2 83| 4 |48|594 | 144 | 295|260 379 171 [115[155| 14
1~ | 370 | 374 | 200 | M8X15 | 430 (183| 191 | M32X1.5 | M32X1.5| 135 | 175 | M8X17 G2 83| 4 (48594 | 144 | 295|260 |379| 171 [115]|155| 14

2HB520-HA31

m,



2HB6 3AC-380V RHl1ERES%E

2HB6 3AC-380V Performance parameters of blower

-1 |
parameters

50 1.6 200-240A 345-415Y 8.5A/4.9Y 265 -170 180 67
24

+ 2HB610-AH06 B
60 2.05 220-275A 380-480Y 8.8A/5.5Y 315 -180 190 70

50 3 200-240A 345-415Y 12.5A/7.2Y 265 -280 280 69
32

+ 2HB610-AH26 &8
60 3.45 220-275A 380-480Y 12.6A/7.3Y 315 -260 270 78

50 22 200-240A 345-415Y 9.7A/5.6Y 345 -200 195 70

29

+ 2HB630-AH16 L

60 2.55 220-275A 380-480Y 10.3A/6.0Y 415 -170 195 73

i

50Hz
4 400 400 |
s z
& | — /B B3
0
£ 300 ! }QL&/// \()L}\ 00 | =
§ hd |+ /)LBBE’L//// N Bsz{\\\\\ E
8 [T L+ M~ Tr~l.g 2
= | 200 S I~ Lo 200 |8
- 22 L+ L T |
24 L= '8 X
|5 el T 22
100 ety L 100
]
il MalNiiAsE
0 0
300 250 200 150 100 50 0 50 100 150 200 250 300

Vacuum(&E =) Total pressure difference / GE%E A P Pressure (£ /1)

400 400
: e <
2 gos | L+ A [~ 2
= | 300 o] LB - 300 |
H 295 1 ] ///’/’/ \\1\\ \\\o\\ E
e Ly T L ~_| 2.5 T~ <
8 1 T 3
| 20 g 05 RESACL 20 | w

8.4 /’Cr 3.4 *°)\\§\<§\55
1 3.45
100 4 ™~ [ 100
0 0
300 250 200 150 100 50 0 50 100 150 200 250 300
Vacuum (E =) Total pressure difference / HEZ AP Pressure (£77)




2HB610/630 B4 Z R R ~T

Single stage mounting dimensions

2HB610-AH06

2HB610-AH16

2HB610-AH26

2HB630-AH06

2HB630-AH16

2HB630-AH26

2HB610-AA11

N e S N N N N A N 3 N A G T I I A R A
3~ | 359 | 401 [ 226 | M8X20 | 353 | 114 | 190 | M16X1.5 | M25X1.5| 128 | 189 | M8X17 G2 83 |4.5| 53 | 180 | 325|290 | 93 | 140 | 314 | 15
3~ [ 359 (410 | 226 | M8X20 | 353 | 114 | 190 [ M16X1.5 | M25X1.5| 128 | 189 | M8X17 G2 83 |4.5| 53 | 180 | 325 (290 | 93 | 140 | 314 | 15
3~ | 359|410 [ 226 | M8X20 | 384 | 114 | 188 | M32X1.5 | M32X1.5| 135 | 189 | M8X17 G2 83 |4.5| 53 | 180 (325|290 | 93 | 140 | 314 | 15
3~ | 359 | 410 | 226 | M8X20 | 372 [ 132 | 190 | M16X1.5 | M25X1.5| 128 | 189 | M8X17 G2 83 |4.5| 53 | 180 | 325 ( 290 | 111 | 140 | 332 | 15
3~ [ 359|410 | 226 | M8X20 | 372 | 132 | 190 | M16X1.5 | M25X1.5| 128 | 189 | M8X17 G2 83 |4.5| 53 (180 | 325|290 | 111 | 140 | 332 | 15
3~ [ 359 (410 | 226 | M8X20 | 402 | 132 | 188 | M32X1.5 | M32X1.5| 135 | 189 | M8X17 G2 83 [4.5| 53 | 180 | 325|290 | 111 | 140 | 332 | 15
1~ | 359 | 410 | 226 | M8X20 | 380 | 114 | 191 | M16X1.5| M25X1.5| 128 | 189 | M8X17 G2 83 |4.5| 53 | 180 325|290 93 | 140 | 314 | 15

m,



2HB7 3AC-380V MH1EEESER

2HB7 3AC-380V Performance parameters of blower

£ parameters

200-240A 345-415Y 9.7A/5.6Y
220-275A 380-480Y 10.3A/6.0Y

* 2HB710-AH16

345-415A 600-720Y 9.0A/5.2Y
380-480A 660-720Y 9.0A/5.5Y

+ 2HB710-AH37

200-240A 345-415Y 12.5A17.2Y
220-275/ 380-480Y 12.6A/7.3Y

+ 2HB720-HH26

. 2HB720-HH47 A 345-415/ 600-720Y 13.3A/7.7Y
5 380-480A 660-720Y 13.3A/7.7Y
2HB730-AH16 i 200-240A 345-415Y 9.7A/5.6Y
220-275A 380-480Y 10.3A/6.0Y
+ 2HB730-AH37 345-415/ 600-720Y 9.0A/5.2Y
2 380-480A 660-720Y 9.0A/5.2Y

345-415/ 600-720Y 13.3A/7.7Y
380-480A 660-720Y 13.3A/7.7Y

+ 2HB740-HH47

BhZ% curves

_ 50Hz _
g 50 ‘ 500 | €
Z 0 GX’L g
s | 400 W\ﬁ;& g$> 400 | 5
= s =
2 | 300 4 _51B720 20~ | o4 300 | 3
L 1= | =1 N1 [ 2.2 S
- 224+ AQ 2Hg>, \zﬂ“\(?\\\ h 1
& | 200 o 2T PIE i e L 200 |
90— | §.5%7, P —&8 ]
100 o=t 5 2 a2 o 75 100
5557.5 ]
aaNRAANGEeh §oinr
0 0
500 400 300 200 100 0 100 200 300 400 500 600
Vacuum (EZ%) Total pressure difference / BEEAP Pressure (EJ1)
60Hz 500
20 600 =
2 P [ TR |, 3
= | 500 5 0 ! 500 | &
H Py B
= | 400 z - 63 a0 | 2
z 35 [2HB120- 2HB720 - 555 -
© | 300 a5 S LED = i 2HBri a4 48 300 | &
he 48 B 91 56nBTY <8710 348 4T 6.3 "
ey B L 4507+ 859 8 1o | 86 =
200 63— 86 55 345 ~ 200 | %
5] 6 345 ~o
100 86 iy 46 100
46
0 0
500 400 300 200 100 0 100 200 300 400 500 600 700
Vacuum (BZ) Total pressure difference / BEZEAP Pressure (JE/1)




2HB710/730 B/ R~

Single stage mounting dimensions

@8 woser [t Alo o] 0 lelrlol n | | ulwl L] w njolrlalr]sli]ulv w]
2HB710-AH16 3~ | 382 | 420 | 240 [M10X20| 377 | 130 | 190 | M16X1.5 | M25X1.5| 128 | 195 | M8X17 G2 83 (45| 51 180 | 325 | 290 | 109 | 140 | 355 | 15

PIRITAN- GVl 3~ | 382 | 420 | 240 [M10X20| 409 | 130 | 188 | M32X1.5 | M32X1.5| 135 | 195 | M8X17 G2 83 |4.5| 51 | 180 | 325 | 290 [ 109 | 140 | 355 | 15
PREYADY GRYA 3~ 382 | 420 | 240 |M10X20| 446 | 130 | 225 | M32X1.5 | M32X1.5| 135 | 195 | M8X17 G2 83 |4.5| 51 180 | 325 | 290 | 109 | 140 | 355 | 15
PR R 3~ | 382 | 420 | 240 (M10X20| 387 | 140 | 191 | M32X1.5 | M32X1.5| 128 | 195 | M8X17 G2 83 |4.5| 51 | 180 [ 325|290 [ 118 | 140 [ 364 | 15
PLRLEYRIOE NPl 3~ | 382 | 420 | 240 |M10X20| 418 | 140 | 188 | M16X1.5 | M25X1.5| 135 | 195 | M8X17 G2 83 (45| 51 180 | 325 [ 290 | 118 | 140 | 364 | 15
PLREYRKYA 3~ | 382 | 420 | 240 IM10X20| 455 | 140 | 225 | M32X1.5 [ M32X1.5 | 135 | 195 | M8X17 G2 83 |4.5| 51 | 180 [ 325 | 290 | 118 | 140 | 364 | 15
2HB710-AA11 1~ 382 | 420 | 240 |M10X20| 377 | 130 | 190 | M32X1.5| M32X1.5| 128 | 195 | M8X17 G2 83 (4.5| 51 180 | 325 ( 290 | 109 | 140 | 355 | 15




2HB720 R L E R

Double stage mounting dimensions

<]

-ﬂ-ﬂ- -------ME-----

3~ | 426 | 420 | 240 |M10x20 226 M16X1.5 | M25x1.5 | 128 | 195 | M8X17 638 200 | 451 | 205
PP RaPl 3~ | 426 | 420 | 240 |M10X20[ 505 | 226 [ 188 | M32X1.5 | M32X1.5] 135 | 195 | M8x17 | G2 | 83 [ 4.5 | 51 | 638 | 161 | 325 | 200 | 451 | 205 | 140
PUTIZLNIEIA 3~ | 426 | 420 | 240 [M10x20| 526 | 226 | 209 [ M32x1.5 | M32x1.5] 148 | 195 [ Mex17 | 62 | 83 | 4.5 | 51 | 638 | 161 | 325 | 200 | 451 | 205 | 140

-_--_-_-MHH-------

2HB720-HH47 K 240 |M10X20 226 | 226 | M32X1.5 | M32X1.5 | 167 M8X17 638 | 161 | 325|290 | 593 | 205 | 140 | 180
VIS YI RS Ryl 3~ | 426 | 420 | 240 [M10X20| 571 | 226 | 226 | M32X1.5 | M32X1.5 | 167 | 196 | M8X17 | G2 | 83 | 4.5 | 92 | 638|161 |325|290|593 |205|140| 180 | 15

a




2HB740 W/ R R~

Double stage mounting dimensions

RIS Model [#EfI| A

3 0T =5 5 T T 5 O 0 G B

3~ | 424 | 480 | 240 |[M10X20| 525 | 226 | 209 | M32X1.5 | M32x1.5 | 148 | 255 | Mx17 | G2 | 83 | 65 | 111 | 180 | 331 | 290 | 205 | 140 | 450 | 15 |

T

U

\

W

/i
Lo

M '

|~

O R

[a W

B S Model |[#H{I

Ale]cl| D S5 AT T N5 O 7 00 R i R A A Y
P SYCONE YA 3~ | 424 | 480 | 240 IM12X20| 571 | 226 | 226 |[M32X1.5|M32X1.5| 167 | 255 | M8X17 | G2 83 | 65 | 151|417 | 308 | 331 | 290 | 205 | 140 [ 593 | 180 | 15
PIRETEOREETyd 3~ | 424 | 480 | 240 IM12X20( 571 | 226 | 226 (M32X1.5|M32X1.5| 167 | 255 | M8X17 | G2 83 | 65 | 151|417 | 308 | 331|290 | 205 | 140 | 593 | 180 | 15

]



2HB8 3AC-380V K#ltaESE

2HB8 3AC-380V Performance parameters of blower

2 ¥ parameters

& By DEFESH Motor rated parameters }-FN #E e . -
= =
b A BLEss EZES hE BE R HEm & HEES EHRER
Mode! single frequency power voltage current Max airflow rated Vacuum |[rated compress noises Weight
double Hz KW v A m3/h mbar mbar dB(A) Kg
50 4 345- 415 A 600- 720 Y 9.5A/5.5Y 530 -200 200 70
+ 2HB810-AHO7 -1 51
60 4.6 380 - 480 A 660 - 720 Y 9.75/%/5::5Y, 620 -160 160 74
50 519 345 - 415 A 600- 720 Y 12.9A/7. 4Y 530 -300 300 80
+ 2HB810-AH17 B 62
60 6.3 380 - 480 A 660 - 720 Y 12.9A/7.45Y 620 -300 280 82
50 7.5 345- 415 A 600- 720 Y 16. 7A/9. 6Y 530 -320 430 80
+ 2HB810-AH27 B 65
60 8.6 380 - 480 A 660 - 720 Y 17. 3A/ 10Y 620 -350 400 82
50 5.5 345- 415 A 600- 720 Y 133N/ 7 5T Y 530 -250 240 74
« 2HB820-HH17 P 83
60 6.3 380 - 480 A 660 - 720 Y 18. 3A/LT. T, 620 -170 160 78
50 7.5 345- 415 A 600- 720 Y 16.7A/9. 6Y 530 -400 400 74
« 2HB820-HH27 N 88
60 8.6 380 - 480 A 660 - 720 Y 17. 3A/ 10Y 620 —-360 330 78
50 1 345- 415 A 600- 720 Y 28A/16. 2 Y 530 -430 600 74
« 2HB820-HH37 pi'e 104
60 12.6 380 - 480 A 660 - 720 Y 29A/16. 7Y 620 460 600 78
50 15 345- 415 A 600- 720 Y 32.5A/18.8Y 530 —-460 670 74
+ 2HB820-HH47 pue 120
60 17.3 380 - 480 A 660 - 720 Y 34.. 5A/19..9Y 620 —490 750 78
50 4 345 - 415 A 600- 720 Y 9DV 555 700 -150 140 70
+ 2HB830-AH07 B 57
60 4.6 380 - 480 A 660 - 720 Y 9-5/5 5Y 840 -90 90 74
50 5.5 345- 415 A 600- 720 Y 12.9A/7. 4Y 700 -200 190 70
+ 2HB830-AH17 B 66
60 6.3 380 - 480 A 660 - 720 Y 12.9A/7.45Y 840 -180 180 74
50 7.5 345 - 415 A 600- 720 Y 16 70/9-6Y 700 =270 260 70
» 2HB830-AH27 L] 69
60 8.6 380 - 480 A 660 - 720 Y 17. 3A/ 10Y 840 =270 260 74
50 7.5 345 - 415 A 600- 720 Y 16.7A/9. 6Y 900 -200 180 74
« 2HB840-HH27 P 91
60 8.6 380 - 480 A 660 - 720 Y 17. 3A/ 10Y 1050 -150 120 78
50 1" 345 - 415 A 600- 720 Y 28A/16. 2 Y 900 -280 370 74
« 2HB840-HH37 BYe 110
60 1226 380 - 480 A 660 - 720 Y 29A/16. 7Y 1050 =310 350 78
50 15 345- 415 A 600- 720 Y 32.5A/18.8Y 900 -300 390 74
+ 2HB840-HH47 e 126
60 17.3 380 - 480 A 660- 720 Y 34.5A/19.9Y 1050 -330 390 78
Hi%% curves
S0Hz
1000 1000 7 =
800 800 B
79 =
600 i 600 | &
28 | |sk 45 00 e
400 2 AR OrdP e 4
Y H . o~ 1075 o2 11
V| R/ ey o | / 4 0 old
8 0 O 19 1< / 4 55 i 8 U 0
5 4 i
0 0
S00 400 300 200 100 0 100 200 300 400 >S00 600 700
Vacuum (%) Totalpressuredifference/ & [k % AP Pressure (JE/J)
60Hz R
= 91200 3 12007 =
2 o GHp g
211000 s 5 890 86 1000 | =
) 86 30 HB =
3| eoo / 830 20 | b [T 126 =l ) 2
S 0 | &2HB, THo] ~5 =
600 173,128 /"/ :?sem EHBEB; S35 ps g o7 600 |2
B&% 0 & B T i 126
400 gates—r B ie 5 o 73 400
¢ s ; [l
o1 163 8.6
200 86 200
0 0
200 400 300 200 100 0 100 200 300 400 S00 600 700 800
Vacuum (¥%) Totalpressuredifference/ S JE % AP Pressure (JEJ))




2HB810/830 B RER~T

Single stage mounting dimensions

2% Mode! _————-nm_--

2HB810-AHO7 M10X20 149 M32X1.5 | M32X1.5 M8X17 | G212 217 125 | 170 | 434
PLECIOEGREA 3~ | 451 | 503 | 286 |M10X20| 478 | 149 | 226 M32X1.5 | M32X1.5 [ 167 | 239 | M8X17 | G2z | 94 764 217 | 394 | 356 | 125 | 170 | 434 | 15
PLIELENNEP Y 3~ | 451 | 503 | 286 (M10X20| 478 | 149 | 226 | M32X1.5 | M32X1.5| 167 | 239 | M8X17 | G212 | 94 64 | 217 | 394 | 356 | 125 | 170 | 434 | 15 1
PL LRI T 3~ | 451 | 503 | 286 |M10X20| 465 | 164 | 209 | M32X1.5 | M32X1.5 | 148 | 239 | M8X17 | G212 | 94 64 | 217 | 394 | 356 | 139 | 170 | 448 | 15
PIEELEWNERNA 3~ | 451 | 503 | 286 [M10X20| 492 | 164 | 226 | M32X1.5 | M32X1.5| 167 | 239 | M8X17 | G212 | 94 64 | 217 | 394 | 356 | 139 | 170 | 448 | 15
PRIRRIN VY 3~ | 451 | 503 | 286 |M10X20| 492 | 164 | 226 | M32X1.5 | M32X1.5 | 167 | 239 | M8X17 | G212 | 94 64 | 217 | 394 | 356 | 139 | 170 | 448 | 15

]

ol oo oo




2HB820 W/ ZE R ~T

Double stage mounting dimensions

WS wodel fEIAJBICl D JEJFIG] H | I UK L [MINJOIPIQIRISIT]ULVIW]X]Y]
I lPNES SRl 3~ | 497 | 503 | 286 [M12X20| 590 | 262 | 226 | M32X1.5 | M32X1.5 | 167 | 239 | M8X17 |G212| 94 | 6 | 65 |832|202|394|356 | 237 |170|579|217| 15
PILEPIEREPY M 3~ | 497 | 503 | 286 |M12X20| 590 | 262 | 226 | M32X1.5 | M32X1.5 | 167 | 239 | M8X17 [G212| 94 | 6 | 65 | 832|202 (394|356 | 237 |170|579|217 | 15

| #8 Moge! @zl AB|C| D JEJF]G] H | 1 Ju[K| L [M[NJolPlQ|RIS|TIU|V IW]|X]Y]|Z]|z]
3~ | 497|503 | 286 |[M12x20| 695 | 262 | 291 | M32x1.5 | M32X1.5 [ 197 | 239 | M8X17 |G212| 94 | 6 [103|832|202| 168|226 | 394|356 | 236 170|751 (217 | 15
3~ 497|503 |286 |M12x20| 695|262 291 | M32X1.5 | M32x1.5 | 197|239 | M8x17 [G212| 94 | 6 |103]832|202[ 168|226 [394(356 |236(170|751[217| 15

I




2HB840 R LR R~

Double stage mounting dimensions

S
R

PUTILRMERA 3~ | 500 | 563 | 286 |M12x20| 590 | 262 | 226 | M32X1.5 | M32X1.5| 167 | 209 | M8X17 |G212| 94 | 66 |124] 217 | 394 | 356 | 237 | 170 | 579 | 15 |

B S Model |HE{I

NI « | | wnlolplalrls |t lulviwiwl v
500 | 563 | 286 |M12X20| 695 | 262 | 291 | M32X1.5 | M32X1.5| 197 | 299 | M8X17 |G212| 94 | 66 |164|451 | 336|394 | 356 | 237 (170|751 (217| 15
3~ | 500 | 563 | 286 |M12X20| 695 | 262 | 291 | M32X1.5 | M32X1.5| 197 | 299 | M8X17 |G212| 94 | 66 |164| 451|336 | 394 (356 (237 | 170|751 |217| 15




2HB9 3AC-380V RMHNtEEESER

2HB9 3AC-380V Performance parameters of blower
S¥ parameters

345-415A

600-720Y

18.2A/10. 5Y

380-480A

345-415A

660-720Y

600-720Y

18.2A/10.5Y

35A/20Y

380-480A

345-415A

660-720Y

600-720Y

36.5A/21Y

28A/16.2Y

o

380-480A

345-415A

660-720Y

600-720Y

29A/16.7Y

40A/23Y

380-480A

345-415A

660-720Y

600-720Y

42/1/24.2Y

18.2A/10. 5Y

380-480A

345-415A

660-720Y

600-720Y

18.2A/10. 5Y

37A/21Y

380-480A

345-415A

660-720Y

600-720Y

39A/22.5Y

40A/23Y

380-480A

345-415A

660-720Y

600-720Y

42/A/24.2Y

35A/20Y

380-480A

660-720Y

36.5A/21Y

50 25 345-415A 600-720Y 52A/30Y 2050 -310 280 75

+ 2HB943-HH47 ™ 235
I 60 29 380-480A 660-720Y 50A/30Y 2480 -270 230 [ 84
Bh%% curves
50Hz
2500 5555
2 3
2 | 2000 2000 s
g
5 15 _1— 11 2
= L] Torob ] | 2 %
“ 1500 20 1 ® Poasson 1500 &
8 zO‘/O// a\) oz b
25 L1772 85
Bl o0 fes _ 2Bo2 S 2o | | 125 165 1000 |
S 2o T T—1T T 478 Y ol | | 20
195 1 125 23 T T o 12,5 T T Tt
| 1 12.5_—5T S —ot25 | | |
500 20=25 5 8 = 25 500
185 L
8. 85
0 0
500 400 300 200 100 0 100 200 300 400 500 600
Vacuum (E.%5) Totalpressuredifference/ & k2 AP Pressure (JE #7)
60Hz
2500 5550
’f\ 1 /5]5/) L 0 1 - tol?-5 =
] =2
2 2000 L = P 175 2p n\%\:\‘s - 2000 g
3 23| T | &1 | B %
= 20010 L1128 p930_| | 2HBO30 9 :
.,.
S o0 29 thd | 57 [oriee20 2HB320 | 1500 | %,
| o l— I <
™ 1455 | L1 - S| b
¥2 19 |1 t— —518910 B910 T606 b
1000 oSl 1| 23 T L —T48] : 35T 9
—1 a5 I :
500 5 T;/ 175 500
0 . ! 0
500 400 300 200 100 0 100 200 300 400 500 600
Vacuum (%) Totalpressuredifference/ k% AP Pressure (JE 77)




2HB910/930 B RER~T

Single stage mounting dimensions

[mz e i) A 18 o] o JEJF ol v 1y Lk L Jwlnlolelalrls Tlulv]wlx]
2HB910-AHO7 8= 550 | 618 | 490 |M12X30| 525 | 195 | 226 | M32X1.5 | M32X1.5 | 167 | 299 |M12X30 | G4 | 150 | 207 | 414 | 92 | 360 | 88 | 535 |577 (646 | 15 | 605
2HB910-AH17 3~ 550 | 618 | 490 | M12X30| 611 | 195 | 291 | M40X1.5 | M40X1.5 | 197 | 299 |M12X30 | G4 | 150 | 207 | 414 | 92 (360 | 88 | 535 |577 [ 646 | 15 | 605
2HB910-AH27 3~ 550 | 618 | 490 |M12X30| 611 | 195 | 291 | M40X1.5 | M40X1.5 | 197 | 299 |M12X30 | G4 | 150 | 207 | 414 | 92 | 360 | 88 | 535 |577 [ 646 | 15 | 605
2HB910-AH37 8= 550 | 618 | 490 | M12X30| 611 | 195 | 291 | M40X1.5 | M40X1.5 | 197 | 299 |M12X30 | G4 | 150 | 207 | 414 | 92 | 360 | 88 | 535 |577 [646 | 15 | 605
2HB930-AHO7 3= 550 | 618 | 490 | M12X30| 563 | 233 | 226 | M32X1.5 | M32X1.5 | 167 | 299 |M12X30 | G4 | 150 | 207 | 414 | 92 | 360 | 126 | 535 | 577 (684 | 15 | 643
2HB930-AH17 B~ 550 | 618 | 490 [ M12X30 | 649 | 233 | 291 | M40X1.5 |M340X1.5| 197 | 299 |M12X30| G4 | 150 | 207 | 414 | 92 | 360 | 126 | 535 |577 (684 | 15 |643
2HB930-AH37 3~ | 550 | 618 | 490 | M12X30| 649 | 233 | 291 | M40X1.5 | M40X1.5 | 197 | 299 |M12X30 G4 | 150 | 207 | 414 | 92 | 360 | 126 | 535 | 577 | 684 | 15 |[643




2HB920 WKk RERT

Double stage mounting dimensions

2HB920-HH17

2HB920-HH27
2HB920-HH37

2HB920-HH47

Q
e -
- N U
H N 2
L I
ol —
XY
s « X
>
/
glajslcl o JEJF[a] W | 1 JulKk] L [MIN[OJP[QIR[S|T]UlV W]|X]|Y]|Z][21]
3~ |624 (618|490 M12X20| 752 | 336 | 291 | M40X1.5 | M40X1.5 | 197 | 299 |M12X30| G4 |150| 25 | 92 [1131/236 207 [414 360|229 |535| 15 |787 |746 577
3~ 624 (618|490 M12X20| 752 | 336 | 291 | M40X1.5 | M40X1.5 | 197 | 299 [M12X30| G4 |150| 25 | 92 [1131/236 (207 [414 [360(229(535| 15 |787 |746 577
3~ |624 (618|490 |M12X20| 752 | 336 | 291 | M40X1.5 | M40X1.5 | 197 | 299 |M12X30| G4 |150| 25 | 92 1131/236|207 [414|360|229(535| 15 787|746 |577
3~ 624 (618|490 M12X20| 752 | 336 | 291 | M40X1.5 | M40X1.5 | 197 | 299 |M12X30| G4 |150| 25 | 92 [1131/236 (207 [414 360|229 (535| 15 |787 |746 577

2HB940

M &% R~

Double stage mounting dimensions

8% woer ] A | o |

2HB940-HH27

2HB940-HH37
2HB940-HH47

lc] o JEJFIG] H | | |J K| L IMINJOJPIQIRIS|TIUJVIW]X]
3~ | 610 | 618 | 490 |[M12X30( 752 | 336 | 291 | M40X1.5 | M40X1.5 | 197 | 299 |M12X30| G4 | 150 | 25 | 92 | 207 | 360 | 229 | 535 | 787 | 789 | 577 | 15
3~ | 610 | 618 | 490 [M12X30( 752 | 336 | 291 | M40X1.5 | M40X1.5 | 197 | 299 |M12X30| G4 | 150 | 25 | 92 | 207 | 360 | 229 | 535 | 787 | 789 | 577 | 15
3~ | 610 | 618 | 490 |[M12X30( 813 | 336 | 291 | M40X1.5 | M40X1.5 | 197 | 299 |M12X30| G4 | 150 | 25 | 92 | 207 | 360 | 229 | 535 | 787 | 789 | 577 | 15




2HB943 W&/ L& R~

Double stage mounting dimensions

R
A
D M8
=l
) W
o)
&)
B C g >
|
L1100
E S
F

IS I N N T ' T N N N S N A A R T
3~ | 615 | 745 | 490 | 100 | 424 | 641 | 245 | 40 | 376 | 201 | 791 | maox1.5|197] 426 | 307 | &5 | 308 | 219 | 581 | 322 | 1203] 625 | 35
3~ | 615 | 745 | 490 [ 100 | 424 | 641 | 245 | 20 | 376 | 201 | 791 [ maox1.5 [197] 426 | 307 | G5 | 308 | 219 [ 581 [ 322 [1203] 625 | 35
PRETYENEEYA 3~ | 615 | 745 | 490 | 100 | 424 | 641 | 245 | 40 | 376 | 351 | 852 | Ma0x1.5 |197| 426 | 307 | G5 | 308 | 219 | 581 | 322 |1203] 625 | 35




4HB-1AC-220V B0 K EESE

4HB-1AC-220V Performance parameters of blower

KA 220V £ % parameters

DiAEIES ¥ Motor rated parameters

3
s BR it HhE BE Bk HRR R e
4HB-1AC-220V)
Model single frequency voltage current Max airflow rated Vacuum  rated compress noises Weight
double HZ \% A m3/h mbar mbar dB(A)
50 0.55 220 3.1 47 - 230 290 57
+ 4HB210-AA71 B 18
60 0.63 220 £ 57 - 270 320 62
50 15 220 9.7 47 - 370 600 58
* 4HB220-HA71 pus 30
60 145 220 10.3 60 - 420 660 62
50 0.85 220 55 66 - 250 350 57
« 4HB310-AA71 B 18
60 0.95 220 6.1 80 - 280 390 62
50 1.5 220 9.7 65 - 400 550 59
+ 4HB320-HA71 n 32
60 1.75 220 10.3 76 - 390 540 63
50 1.1 220 10.3 87 - 300 380 55
+ 4HB410-AAT71 =3 23
60 13 220 10.6 105 - 350 390 62

HFH 220V BHZR curves

50Hz
100 100
z It z
E| 80 et ""e,, 80 | E
F 41T < 3
2 | 60 ~4HB3,, 60 |5
= O B2z % E
g | 40 P Ry > w0 |8
3270 \
20 20
& M %8 315
o ©0.55 . o
500 400 300 200 100 0 100 200 300 400 500 600 700
Vacuum(E &) Total pressure difference / S/EZ AP Pressure (£ )
60Hz
120 120
z £
= | 100 100 | 2
z W % <
z L Y70 2
2
S| 80 / S e 8o |2
3 = ~4Hgg 8
3 Pely 20 s
®| s0 D —— 4Hg 60 | @
%= & L 220 Wy, -
we> g 83,
40 ABB”“/ 210 & 40
B & 93 175
20 = o o 20
063 0% 1.75
0 0
500 400 300 200 100 0 100 200 300 400 500 600 700
Vacuum(E &) Total pressure difference / 2 /E% A P Pressure ([E )

FRSHEHZRRTN=HLRR~THE EE=HLRR~THT

Installation dimensions of the same type 1AC and 3AC are the same. Just check the installation dimensions of 3AC



4HB 3AC-380V R#HlIMEEESH#

4HB 3AC-380V Performance parameters of blower

&2 ¥ parameters

By DiAFIESH Motor rated parameters BX e e . -
#S 3=y E2F
( 4HB-3AC) MR ik mE BE b Hig 2 HZED EFER
Model single frequency | power voltage current Max airflow rated Vacuum |rated compress| noises Weight
double HZ KW A A m3/h mbar mbar dB(A) Kg
50 0.55 200-240A 345-415Y 2.8A/ 1.6Y 47 - 230 290 57
+ 4HB210-AH16 B 16
60 0.63 220-275/ 380-480Y 3A/ 1.7Y 57 = 270 320 62
50 0.55 200-240A 345-415Y 2. 8AY . 6Y 66 - 250 250 57
+ 4HB310-AH16 =} 16
60 0.63 220-275/A 380-480Y 3L 1T 80 - 260 250 62
50 0.85 200-240A 345-415Y 4N/ 2.3Y 66 - 280 350 57
+ 4HB310-AH26 B 17
60 0.95 220-275/ 380-480Y 4N/ 2.3Y 80 - 340 360 62
50 1.1 200-240A 345-415Y 54A/ 3.1Y 87 - 300 380 58
« 4HB410-AH16 =) 23
60 1.3 220-275/\ 380-480Y 5.4A/ 3.1Y 105 - 340 370 62
50 15 200-240A 345-415Y 75N/ 4.3Y 120 - 310 360 64
« 4HB510-AH16 B 26
60 1.76 220-275/ 380-480Y 7640/ 4.4Y 145 - 340 320 68
50 2.2 200-240A 345-415Y 11.4A/ 6.6Y 120 - 310 470 64
+ 4HB510-AH26 L] 29
60 2.55 220-275/\ 380-480Y 11.2/A/ 6.5Y 145 - 360 480 68
50 22 200-240A 345-415Y 11.4A/ 6.6Y 165 - 340 360 65
+ 4HB610-AH16 B 32
60 2.55 220-275/\ 380-480Y 11.2A/ 6.5Y 195 - 360 320 71
50 33 200-275A 345-415Y 13A/ 7.5Y 165 -340 480 65
+ 4HB610-AH36 =} 35
60 3.8 220-275/ 380-480Y 14.2A/ 8.2Y 195 -380 530 71
BA £ curves
50Hz
200 200
3 ~4Hp, 150 3
E| 150 610 E
3 4 T 3
% —-4HB T %
&1 100 R 100 |3
= ‘\»4113410 T~ S~ 2 =
= 3.3(22) —4 ~_| | TO- "
50 ) = _ | <550
2419 ¢ )/oﬁ T y S
C oo = Iy Sl {022
O 1.1y Oﬁ;.ss( s
400 300 200 100 0 100 500
Vacuum(E =) Total pressure difference / B/EEA P Pressure (£ 73)
60Hz
200 - 200
7| 150 - e 150 |§
3| 100 : = L 100 |2
V] A i < Q
e 2.55 f 1T T T~ a3 -
50 O] fa+— — T = 1 50
e .3//ﬁ3/ E i -
0 255 65 |0.680 | i 0
400 300 200 100 0 100 200 300 400 500 600
Vacuum(E =) Total pressure difference / EE=A P Pressure (£ 17)

]



Single stage mounting dimensions

F_ G
il
1
H i | -
I |
; P
|
—]

3~ | 295 | 360 | 153 | M6X15 | 293 |107| 135 | M16X1.5 | M32X1.5 | 29 | 111 168 G11/4 | 64

107| 88 | 124 |M6X17| 298 |260| 65 |105(272| 14
114| 94 | 130 |M6X17| 325 |290| 67 (105|276 14
114 | 94 | 130 |[M6X17| 325 |290| 67 (105|276 | 14
125| 103 | 145 |M6X17| 350 |315| 70 (130|282 14
138| 114 | 148 \M6X17| 363 |328| 71 |152|287| 14
138| 114 | 148 |M6X17| 363 |328| 71 (152|287 | 14
153 | 126 | 172 |M6X17| 406 |371| 70 |152|291| 14
153| 126 | 172 |M6X17| 406 |371| 70 (152|291 14
107 | 88 | 124 |[M6X17| 298 |260| 65 |105|272| 14
114| 94 | 130 |M6X17| 325 |290| 67 |105|276| 14
125| 103 | 145 |M6X17| 350 |315| 70 |130|282| 14

3~ | 313 | 378 | 153 | M6X15 | 295 (109| 135 | M16X1.5 | M32X1.5 | 29 | 111 177 G11/4 | 64
3~ | 313 | 378 | 153 | M6X15 | 319 (109| 1569 [ M16X1.5 | M32X1.5 | 29 | 120 177 G11/4 | 64
3~ | 346 | 416 | 167 | M6X15 | 323 |113| 159 | M16X1.5 | M32X1.5 | 29 | 120 197 G11/4 | 64
3~ | 367 | 435 | 192 | M8X15 | 363 |112| 191 | M16X1.5 | M32X1.5 | 29 | 128 206 G11/4 | 64
3~ | 367 | 435 | 192 | M8X15 | 363 |112| 191 | M16X1.5 | M32X1.5 | 29 | 128 206 G11/4 | 64
3~ | 418 | 494 | 228 | M8X15 | 364 |124| 191 | M16X1.5 | M32X1.5 | 29 | 128 236 G11/4 | 64
3~ | 418 | 494 | 228 | M8X15 | 390 (124 217 | M16X1.5 | M32X1.5 | 29 | 128 236 G11/4 | 64
1~ | 295 | 360 | 153 | M6X15 | 293 |107| 135 | M16X1.5 | M32X1.5 | 29 | 111 168 G11/4 | 64
1~ | 313 | 378 | 153 | M6X15 | 295 (109| 159 | M16X1.5 | M32X1.5 | 29 | 120 alrir G11/4 | 64
1~ | 346 | 416 | 167 | M6X15 | 321 |113| 159 | M16X1.5 | M32X1.5 | 29 | 120 197 G11/4 | 64

S N N I N




4HB 3AC-380V RiliEEESEL

4HB 3AC-380V Performance parameters of blower

£% parameters

50 0.85 200-240A 345-415Y 4N/2.3Y 47 -370 490 58

« 4HB220-HH26 Py 24
60 0.95 220-275A 380-480Y 4N/2.3Y 60 -440 480 62
50 1.1 200-240A 345-415Y 5.4A/3.1Y 65 -400 480 59

* 4HB320-HH46 m 29
60 1.3 220-275A 380-480Y 54A/3.1Y 76 -480 480 63

200-240A 345-415Y 7.5A/4.3Y
220-275A 380-480Y 7.6A/4.4Y

+ 4HB420-HH26

200-240A 345-415Y 11.4A/6.6Y
220-275A 380-480Y 11.2A/6.5Y

+ 4HB520-HH26

BhZ% curves

50Hz
200 200
:i, 150 Can — 150 §
K] L +—1"1 & T | i 2
8 100 7.5 |+ = = 33 e 100 |3
= T “(101/ = g\\ Trolss 2
50 Ny T hd T [a 50
= 1 2 4 —1 | [ ©
) 3.3%_@4‘;}0% 85) IA“ > | eestt - Oals Q3 0
15
800 600 400 200 0 200 400 600 800 1000 1200
Vacuum(E &) Total pressure difference / BUEZ A P Pressure (£ 7)
60Hz
R 200 — . 200 -
z| 150 - 150 |2
z - z
2 o251 —t— 2
3| 100 — - - Qe 100 |3
b= L - 2
50 4_% ; 1 50
3. _———
0 1 so 1.75 095 T T = T - o
800 600 400 200 0 200 400 600 800 1000 1200
Vacuum(HE &) Total pressure difference / B/FZA P Pressure ([ E 1)




4HB WK L% R~F

Double stage mounting dimensions

3~ 295 | 360 153 M6X15 45 |274| 489 M16X1.5 M32X1.5 159 | 135 29 1 167 4 123 | 105 | 64 [G11/4| 298|260 | 261 | 105 [ 468 | 14
3= 295 | 360 | 153 [ M6X15 45 |274( 546 | M16X1.5 | M32X1.5 | 159 | 191 29 128 167 | 4 [123|105| 64 |G11/4| 298 260 | 261 [ 105 | 468 | 14
3~ 333 | 380 | 153 [ M6X15 47 [291| 515 | M16X1.5 | M32X1.5 [ 159 | 159 29 120 178 | 4 | 130 | 114 | 64 |G11/4| 325|290 [ 263 [ 105|472 14
a5 333 | 380 [ 153 | M6X15 47 |291( 546 | M16X1.5 | M32X1.5 | 159 | 191 29 128 178 | 4 [130| 114 | 64 |G11/4| 325290 | 263 [ 105 | 472 | 14
3~ 346 | 416 | 167 | M8X15 52 |321| 548 | M16X1.5 | M32X1.5 [ 159 | 191 29 128 197 | 4 | 145|124 | 64 |G11/4| 350|315 (263 | 130 | 475 | 14
3~ 346 | 416 | 167 | M8X15 52 |321| 575 | M16X1.5 | M32X1.5 | 159 | 217 29 128 197 | 4 |[145|124 | 64 |G11/4| 350 315|263 [ 130 | 475 | 14
3~ 387 | 435 | 192 | M8X15 57 |343| 569 | M16X1.5 | M32X1.5 [ 159 | 191 29 128 206 ( 5 | 148|137 | 64 |G11/4( 363|328 |277 | 152 (493 | 14
3~ 387 | 435 | 192 | M8X15 | 57 [343| 621 | M32X1.5 | M32X1.5 | 159 | 209 42 148 206 | 5 | 148|137 | 64 (G11/4| 363|328 (277 | 152 (493 [ 14
3~ 447 | 495 | 228 | MBX15 63 |389| 599 | M32X1.5 | M32X1.5 | 159 | 217 29 128 236 5 | 173|153 | 64 |G11/4| 406 | 371|278 | 152 (498 | 14
3~ | 447 | 495 | 228 | M6X15 63 |389( 651 | M32X1.5 | M32X1.5 | 159 | 226 42 167 236 | 5 | 173|153 | 64 [G11/4| 406|371 (278 | 152 (498 [ 14
1= 313 | 359 | 153 | M6X15 45 [274| 54 | M16X1.5 | M32X1.5 | 159 | 291 29 128 167 | 4 | 123 | 105| 64 |G11/4| 298|260 [ 261 | 105 | 468 [ 14
4= 333 | 380 | 153 | MEX15 | 45 [291| 546 | M16X1.5 | M32X1.5 | 159 [ 291 29 128 178 | 4 [ 130|114 | 64 |G11/4| 325|290 | 263 | 105 | 472 | 14

4HB = Z & R~

Three stage mounting dimensions

© ojo o

3~ | 442|496 | 228  M8X15| 388 | 64 [ 159 [ M32X1.5|M32X1.5| 731 | 226 42 167 [236| 5 |172(153| 64 |G11/4|406|371|358(152|578|192| 14




= EXWLEDE

W& 2sMuffler

P A B c D
SI-1.2 |Gl /4| 35 80 210
s D SI-15 |Gl 12| 35 30 260
1 H Sl-2 | Ge 40 110 310
si-25 | Ge 172 50 140 510
1 SI-4 G4 60 180 | 800
i JE MiFiltering barrel
G
— #08 4o Rt—mm Frid AER
‘ 1 m I a B c D H @ | mBZmim| KG
’ 4 HMF-10 | Gl 1/4| 48 146 110 70 87 18 15
- = HMF-12| Gl 1/2| 53 185 170 15 10 2.4 2.4
HMF-16| G2 68 222 | es8 | 125 131 5.0 6
H HMF-20] G2 1/2] 86 222 | es8 125 131 | 60 6
HMF-32] G4 123 | 285 263 147 216 | 14.7 145
s
B
it JE 25Filter
B
#5 A B € HEME ()
MF-10 |Gl 1/4| 180 66 100
MF-12 |Gl 1/2| 192 85 100
< MF-16 | Ge 215 | 103 100
MF-20 | Ge 1/2] 260 | 115 100
MF-32| G4 450 | 158 100
B JE ®Pressure Reliefvalue
218 215
QU QU
0o - —
g J

143




N
.
&
e

er
w
Blo
trifugal
n

Ce

i

i

«m. ,',;'u,,
:

...u?f;

ot

e

i
S 2
mm,m: i
llilmum
mmmm, W
i T
% llmmnlmmm
':ulnann it
ummmu 4
i o it
b2 'mm///r///m
mmm,m i
K it
,mmmm,m
wm”m,
i

y i




CXIEARTUEXAN

CXTurbo Blowers(Centrifugal Blowers)

24 parameters

CX

CX-1/4 3¢ 50/60 0.2 220/380 | 1.1/09 90/120 2.2/3.4 2.5+ 50/62 8 v
CX-75S 3¢ 50/60 04 220/380 | 1.9/1.2 130/150 6/8 3 56/70 11 v
CX-75 3¢ 50/60 0.75 220/380 3/1.9 190/270 16/18 4~F 64/80 20 v
CX-100 30 50/60 15 220/380 | 5.3/3.5 210/320 20/25 4~ 74/90 25 v
CX-125 30 50/60 22 220/380 8/5 280/380 30/35 5+ 76/95 34 v
CX-150 39 50/60 3w 380 75 350/400 35/45 6F 80/100 49 v
CX-7.5 30 50/60 5.5 380 1.5 480/600 36/48 6+ 84/105 96
ﬁHE\E Pressure @ S0HZ
mm
640
560
480 SN
™~
400 R
320 N SNT
= [m] T
BE B4 240 HEN
== -
| R1 |CX-1/4 160 NN
80 R
= |R2|CX-75S RIN 1%
4 ) N
R3|CX=7/3 4 8 12 16 20 24 28 32 36 40 44 48 AiE
P m3min
. R4 | CX-100
= RS [CX-125 mﬁfe Pressure @) 6OH7Z
=Re [Cx-150 .
~
480
R
400 ===
T
320 ] T
T N
240 R3 R4 %\ ~
160 H—rA
R1
50 S \
4 8 12 16 20 24 28 32 36 40 44 48 jE
m3min



S
I/
=
2129
S
312

230

CX-1/4

135

135
@
I —
o
\\_L/ %
=== 74
136
2295
378

23

CX-735S
470
O
|5
3 \ / E
gﬂu _}\;// /
i ""’ )

CX-75

e
ae?
Y

150
|-2100
{
|
4
7/
]

CX-100

2195

307

T

213

8190

8216

6., 229

207

1118,

229

1116

212
8150
b
|
|

e ——
| O
Y :Ig, ,\,\\,,//
o gd]

— CX-125

t
95
235
} @
k%g J
/,
]
=
216
435
622

j CX-130

——EH
=l CX-7.5

650

| O\\\
s TN~/

E CX-10



TB & Bz EXAN

TB Turbo Blowers(Centrifugal Blowers)

S%§ parameters

| A | g | PEVEU | BOKEE | RO e % it
B AL : (i) (b)) Air | HEEAE ; - JEAFIX 53
Model Phase Frequency Power Voltage Current Presure(max)| flow(max) Out Lot Noise Level| Weight ook
Hz Kw v A mm H20 mé/min dB Kgs
TB-201 30 50/60 0.75 220/380 | 3/1.8 170/230 16/20 4+ 65/80 23 v
TB-202 3 50/60 15 220/380 | 5.5/3.5 250/300 20/25 4F 70/86 27 v
TB-125 3¢ 50/60 22 220/380 8/5 250/370 30/35 5] 79/90 41 \
TB-150-5 3 50/60 37 380 13/7.5 400/500 42/50 6 80/95 58 v
TB-150-7.5 3 50/60 55 380 19/115 |  400/500 50/65 6 80/95 93
TB-150-10 30 50/60 75 380 26/155 | 400/500 60/75 6 80/95 100
TB-20015 3 50/60 11 380 36/22 520/650 60/80 8 87/105 185
TB-20020 3 50/60 15 380 47/28 550/700 70/90 8 88/110 188
iﬁieu Pressure i) SQHZ
mm
800
700
600
500 <=
400 == S
ob o 300 R R7
opg np g R
200 »
R1 | TB-201 RIN(RD
" 100
Re | TB-202 i
. 8 16 24 32 40 48 56 64 72 80 88 96 ﬂi'
=6 R3| TB-125 m3min
w.|R4| TB-1350-3 TB
RS |TB-150-7.5
s BE Pressure &) 6OHZ
R6 | TB-150-10 MmHE
>
R7 | TB-20015 800
5
= |R8| TB-20020 700 A
600 e
R7|
500 (==
NN
400 RN TNRE Rd
300 M~ - S .
N
200 PiNgr 3
100 N A
\ \
8 16 24 32 40 48 56 64 72 80 88 96 jE&

m3min




500

Ek
0|
1 140 8l |
- 0
230
TB-201
500
250
2 o
o 9 9
)
i
10 140 gl |
a 9
230
TB-202
530
285
| |
R
n)
44
f
o 300 &l o
“ g
350
TB-125
n)
S
S

0
Y

TB-150-5

164

8L
o
S —
o
N
g
430 J gj
80 I 100 I 103 |
200
490
164
N - —
=
g
" —
[
™~
S &
B /i ‘1’1
E = TT =
80 l 100 I 99
200
550
205
O Jl
D
“ " —
o
Q
AN Y
(3e} 4 ﬂ
¥ =T T i
104 I 125 I 11
300
630
285
D }[
D)
° -
2
g
AN o
1> . o
122 ] 178 ! 139
300

710

707

275

225

250

710

150

o)
o

TBIS0—7 .3

707

275

250

12

122

A

)

270

{
I\

112

225

25

150

L

910

4350

25

200
300

162

TB-20015

910

4350

)

270

lee

{
A\

112

313

330

180

170,

T
I 172

313

315

25

200

=
9|
@)

1B-20020

162

180

172




HTB &R ER\E XA

HTB Multi-Stage Turbo Blowers

244 parameters

HTB-75-032 3¢ 50/60 0.4 220/380 | 1.7/0.96 210/260 6/7 3+ 53/65 18 v
HTB-75-053 3¢ 50/60 0.4 220/380 | 1.7/0.96 290/380 6.5/75 3+ 55/68 24 v
HTB-75-104 3¢ 50/60 0.75 220/380 3/1.7 375/500 6.5/8 3+ 56/70 26 v
HTB-75-105 3¢ 50/60 0.75 220/380 31.7 420/600 6.8/8.5 3 56/70 29 Y
HTB-100-102 3¢ 50/60 0.75 220/380 31.7 340/450 11/13 4+ 60/74 28 v
HTB-100-203 3¢ 50/60 1.5 220/380 | 5.7/3.3 500/700 10.4/14 4+F 61/76 36 v
HTB-100-304 3¢ 50/60 2.2 220/380 8/4 650/900 12.5/16 4~ 63/78 45 v
HTB-100-505 3¢ 50/60 3.7 380 8 790/1100 12.8/16.5 4-F 64/80 55 Y
HTB-125-503 3¢ 50/60 37 380 8 580/790 19/23 5 80/85 62 %
HTB-125-704 3¢ 50/60 5.5 380 12.9 750/1050 20/24 51 70/88 87 A%
HTB-125-1005 3¢ 50/60 75 380 14.7 900/1300 20/24 5 72/90 109 %
#E Pressure @b S0HZ
mmH20
1300
1200
1100
1000
900 ==t
™~
800 =
I
700 =
I T~R7
600 k=5 EN
500 TSN
R&
sl =| ]
ne £ g 400 SR
300
R1 |HTB75-032 K
6 P REENE 5 :
R2|HTB/5-053 - = \ I
2z | \ \
=|R3|HTB/75-104 | N
5 10 15 20 2SHE
R4 |HTB/75-105 m3nin
s=|RS|HTB100-102 HTB

R6|HTB100-203
R7|HTB100-304 BE Pressure @) 60HZ
mmH20
R8|HTB100-205 i L]
R9 |HTB125-503 -
RlU HTB1857704 1100
R11|HTB125-1005 1000 o
900 2
800

e

W K
/

R

I

600
500
400
300 ) \

R4 R N

R3 RY

E
200 RINRA \ 3 T
100 \\ A \

I |
5 10 15 20 2SiE q
m3min




70

185

160

192

HTB125-704

HHE 1)
( ,,/) = \X_ﬁ "‘2‘5
T ] ——
HTB75-032
“{‘ g i ég}// ]
{,y’ - Kﬁ -
o | L_ﬂi_'l
HTB75-053
//N
§§[ R 1 =~ —g gg—é{}// _
#“/JJ R Kﬁ -K‘[E
] I
7 4TB75-104
/N
=y Q{C}// i
“_é 3 K /ﬁ “4%
®= HTB75-105
« | 172 _, 84 |st, 56821.8
1 T
B B | fﬁ I
(\\,\7 Edt |
iR T
HTB125-503

190

B

55%

160

55

190

=

479

HTB100-10

160

40

2

51

g
@/T

%:

HTB100-203

190

470

HTB100-304

190

102 160

NS,

479

HTB100-505

84

40&

Sl

102

K% G

4~

55

HTB125-1005




FiE. 0512-86885803 Mk . www.jinnuokejx.com
EE: 0512-65020554 ik, BHNHERPXAEIIWEX




